

# Aufg 3.3. LAusw

①

$$1) a) \int (5x-3)^4 dx$$

$$t = 5x-3 \quad \frac{dt}{dx} = 5 \quad dx = \frac{dt}{5}$$

$$\Rightarrow \frac{1}{5} \int t^4 dt = \frac{1}{5} \cdot \frac{t^5}{5} + k = \frac{t^5}{25} + k = \underline{\underline{\frac{(5x-3)^5}{25} + k}}$$

$$b) \int x(5x-3)^4 dx$$

$$t = 5x-3 \Rightarrow dx = \frac{dt}{5}$$

$$t = 5x-3$$

$$\Rightarrow 5x = t+3$$

$$x = \frac{t+3}{5}$$

$$\Rightarrow \int \frac{t+3}{5} \cdot t^4 \cdot \frac{1}{5} dt$$

$$= \frac{1}{25} \int t^5 + 3t^4 dt = \frac{1}{25} \left( \frac{t^6}{6} + \frac{3}{5} t^5 \right) + k = \frac{(5x-3)^6}{150} + \frac{(5x-3)^5}{125} + k$$

$$c) \int 15x^2(x^3-2)^4 dx$$

$$t = x^3-2$$

$$\frac{dt}{dx} = 3x^2 \Rightarrow dx = \frac{dt}{3x^2}$$

$$\Rightarrow \int \frac{15x^2 \cdot t^4 dt}{3x^2} = 5 \int t^4 dt = 5 \frac{t^5}{5} + k = \underline{\underline{(x^3-2)^5 + k}}$$

$$d) \int \cos(5x - \frac{\pi}{8}) dx$$

$$t = 5x - \frac{\pi}{8}$$

$$dt = 5 dx \Rightarrow dx = \frac{dt}{5}$$

$$\Rightarrow \frac{1}{5} \int \cos(t) dt = \frac{1}{5} \sin(t) + k = \underline{\underline{\frac{1}{5} \sin(5x - \frac{\pi}{8}) + k}}$$

# Aufg 3.3 LAusw

(2)

1ij)  $\int 2x^2(x^3+1)^4 dx$

$$t = x^3 + 1$$

$$dt = 3x^2 dx \Rightarrow dx = \frac{dt}{3x^2}$$

$$= \frac{2}{3} \int \frac{x^2}{x^2} \cdot t^4 dt = \frac{2}{3} \cdot \frac{t^5}{5} + K = \frac{2(x^3+1)^5}{15} + K$$

2aj)  $\int_0^3 \sqrt{x+1} dx$

$$t = x + 1$$

$$dt = 1 dx$$

$$= \int \sqrt{t} dt = \frac{2t^{3/2}}{3} + K$$

$$\Rightarrow \int_0^3 \sqrt{x+1} dx = \left[ \frac{2(x+1)^{3/2}}{3} \right]_0^3 = \frac{14}{3} \approx \underline{\underline{4.67}}$$

2cj)  $\int_0^1 x \cdot \sqrt{1-x^2} dx$

$$t = 1 - x^2$$

$$dt = -2x dx \Rightarrow dx = \frac{dt}{-2x}$$

$$\Rightarrow \int_0^1 x \cdot \sqrt{t} \cdot \frac{dt}{-2x} = -\frac{1}{2} \int_0^1 \sqrt{t} dt = \left[ -\frac{1}{2} \cdot \frac{2t^{3/2}}{3} \right]_0^1 = \left[ -\frac{(1-x^2)^{3/2}}{3} \right]_0^1$$

$$= 0 - \left( -\frac{1}{6} \right) = \underline{\underline{\frac{1}{3}}}$$

$$2e) \int_1^e \frac{\ln^5(x)}{x} dx$$

$$t = \ln(x)$$

$$dt = \frac{1}{x} dx \Rightarrow dx = x dt$$

$$= \int_1^e \frac{t^5 \cdot x dt}{x} = \int_1^e t^5 dt = \left[ \frac{t^6}{6} \right]_1^e = \left[ \frac{\ln^6(x)}{6} \right]_1^e$$

$$= \frac{1}{6} - 0 = \underline{\underline{\frac{1}{6}}}$$

$$3a) \int 2x \sqrt{x^2+1} dx$$

$$t = x^2 + 1$$

$$dt = 2x dx$$

$$dx = \frac{dt}{2x}$$

$$\Rightarrow \int \frac{2x}{2x} \sqrt{t} dt = \frac{2t^{3/2}}{3} + C = \underline{\underline{\frac{2(x^2+1)^{3/2}}{3} + C}}$$

$$3c) \int 2x^3 \sqrt{x^4+1} dx$$

$$t = x^4 + 1$$

$$dt = 4x^3 dx$$

$$dx = \frac{dt}{4x^3}$$

$$\Rightarrow \frac{2}{4} \int \frac{x^3}{x^3} \sqrt{t} dt = \frac{1}{2} \cdot \frac{2}{3} t^{3/2} + C = \underline{\underline{\frac{1}{3} (x^4+1)^{3/2} + C}}$$

3) e)

$$\int (3x^2 + 2x) e^{(x^3 + x^2)} dx$$

$$t = x^3 + x^2$$

$$dt = 3x^2 + 2x dx$$

$$dx = \frac{dt}{3x^2 + 2x}$$

$$\Rightarrow \int \frac{(3x^2 + 2x)}{(3x^2 + 2x)} e^t dt = \int e^t dt = e^t + C = \underline{\underline{e^{(x^3 + x^2)} + C}}$$

4) a)  $\int \sin^4(x) \cos(x) dx$

$$t = \sin(x)$$

$$dt = \cos(x) dx$$

$$dx = \frac{dt}{\cos(x)}$$

$$\Rightarrow \int t^4 \frac{\cancel{\cos(x)}}{\cancel{\cos(x)}} dt = \int t^4 dt = \frac{t^5}{5} + C = \underline{\underline{\frac{\sin^5(x)}{5} + C}}$$

c)  $\int \sin^5(x) dx = \int \sin^4(x) \cdot \sin(x) dx$

ATK:  $\underline{\underline{\sin^2(x) = 1 - \cos^2(x)}}$

$$= \int (1 - \cos^2(x))^2 \cdot \sin(x) dx$$

$$t = \cos(x)$$

$$dt = -\sin(x) dx$$

$$dx = \frac{dt}{-\sin(x)}$$

$$= \int (1 - t^2)^2 \cdot \frac{\sin(x)}{-\sin(x)} dt$$

$$= - \int (t^4 - 2t^2 + 1) dt = - \left( \frac{t^5}{5} - \frac{2t^3}{3} + t \right) + C = \underline{\underline{-\frac{\cos^5(x)}{5} + \frac{2\cos^3(x)}{3} - \cos(x) + C}}$$

4e)

$$\int \frac{1}{x\sqrt{9+4x^2}} dx$$

Of length  $\frac{11}{0e}$